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abstract

This note presents some elementary formulas involving π .

1. Introduction

The number π is defined by
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this note presents some elementary formulas involving π.

2. Formulas
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Let n > 1 , 0 < u ≤ 1 , then
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Let n > 1 , u < 1 , v > 1 , z = (1 + un)-1, w = (1 + vn)-1 , then

π

n sin
π

n

= v w - u z +

k=0

∞ (-1)k un k+1

n k + 1
+

k=0

∞ (-1)k v-n k-n+1

n k + n - 1
+ n

k=0

∞ (-1 /n)k z
k-

1

n
+1

- w
k-

1

n
+1


k ! (n k + n - 1)
(4)

Let n > 1 , u > 0 , then
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Let n > 1 , u > 1 , then
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Let n > 1 , u < 1 , v > 1 , z = (1 + un)-1, w = (1 + vn)-1 , then
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Let u = 0.732464 ..., u7 + u6 + u - 1 = 0 , then
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cn+2 = 2 (cn+1 - cn) , n = 1, 2, 3, ..., {cn, n ≥ 0} = {1, -2, -2, 0, 4, 8, 8, 0, ...} .

Let 0 < p < 1 , u > 1 , then
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Let 0 < p < 1 /2 , i = -1 , then
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Remark : F(a, b, c, x) = 2F1 (a, b ; c ; x) is the hypergeometricfunction.
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